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All the questions are compulsoary. :
WUS - 37 ( Section - A') (T WG 1 {F F E1)
helt o fhea I & T w2 fera) 1

What are the causes of scurvy and rickets disease?+

-
"

§E R

AU & WA B T HH{ 1 1 AUEY 799 foral | -1

Write the phenotype for amonohybrid cross in Mendel experiment.

o7 % gY H FiEl FiaRalt g S 82 - 1
Which antibody is present in mother’s milk in human?
14 w189 19 & W fafaa) 1

Name the gases responsible for green house effect.

B! &1 AgnTe A fer@l | Write the scientific name of turmeric. 1

aafire Wy 1 3 R fagr= a1 82 1
 What is 3 R principle of waste management?

Wi FTEA FAE R SEa § SR gl €2 1
Which coal contains highest percentage of carbon?
urE % g fafava 7@ weed @ fatgw 1
./ Name the hot spots of Indiajwhich are rich in biodiversity.

a@ﬁaﬁ-m&némgﬁﬁﬁﬁﬁ%% 1

hat is the main component of bi10-gas-
rmaﬁz%vﬁaﬂw%%é e W‘jlﬂ!‘ﬁﬁ’m‘%?d?
2 * From which stage of life cyclgof silk worm is silk obtained:

@|ug - & ( Section - B (Wméwﬁﬁ%mw%p
(ii) '6113‘?! Fl &S e - ﬁ?;i used in side mirror of vechicles?
(i)  Which type of mirror re used in headlights of vechicles?
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—

(i)  Which type of mirror 4 gt £ [1+1]
;-13. % - Earth? ’
What e the Inelal moulgng (oo B8 [1+%+%]

(47 T e fee < A, W al;
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IUCN =1 g0 ™ f&@l | Write full form of IUCN. - 1

P.T.O.
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‘. #7 Write the name ofgivendiagm;n J.ﬂ -~ _
-

and also write the name of 1
and 2 in the given diagrani, ..

BR : | N2
| @15. ﬁa%ﬁwaﬂwmﬁmww%?m| 2
What is in-situ conservation of biodiversity? |
Vo 16¢ uﬂm.mw%?ammfaﬁaml 2
What is test cross? Draw it’s lipe diagram, Lo
X @V7. SRS R Ieafa & geol § frin =) srumon 9 29 2
What is the big-bang theory related to the origin of universel?"
ko 8. TN e et gt T w1 d? 2
P Write the meaning of renewable and non-renewabe natural resources.
57 ST w1 ¥2 ) Serww o fafau - 2

qAAE H 3faler & &3 9 YRA H1 QA W@ Iuafeurdf fafan | [141]
Currently write two major achievements of India in the field of space.
21. 9= % 5m faf@e- Write names of following : [1+1]
& (i) $IRAHG 97A19] &= % 1% (Father of Indian nuclear Science)
(ii) YRT & fAERET B9 (Miscile man of India)
@UE - ¥ ( Section - C ) ( T4i T¥7 4 37w & ¥1)

N What are scavengers? State two examples.
20,
)

L2 o

(22) (i) ¥ o e e R
(i) HFHHE H AAgEEd S QI 39 991 % o w7 fEm
Tehell &7 o [2+2] -

()  Write what is the solar light voltaic power plant.
(1) What can be done to make air-conditioner? _
237 (i) e = Rl FEd €2 mee o i T A R i €2
; (i) 9 e <t ¥ qe i gfir & O e T 1 ¥R ot cAB”
T A1 ITH GAH F1 R A HH-FAE FH F FIEA 72
T gr e | | [2+2]
() What do you u'ndérstarid by blood pressure? What is the

normal blood pressure in human? .
(ii) If for a couple the blood}group of male is ‘O’ that of female

is ‘AB’, then what blood gro.-p may occure in their child.

v 2 f’i’l:{ N?‘L%g%?%néﬂ?imagmm?? S A : [.1+:1”+"|’-i-1j
Complete the following eactions &’
(i) Ca(OH), +Cl, — (ii) H,SO4+2Zn—

vr#mﬁw_? '
(i) HCI+ NaOH —»

¥) 2NaHCO; — .

T
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s 27.

\~ 28.

(1)  Howmany periods and

. (iii) Arrange the following méi

) http://Www.rbseoﬁline.com

(i) Foie g Y R T 5 Frerer & aren ey
(]ii) ngwﬁﬁzaﬁﬂﬁ SR ol

Gii) ek ¥ Frere 33 ot 31 ﬁ?@mﬁgmﬂiﬁw :
() ww%ﬁwﬁﬁ%mmﬂﬂﬁwﬁ% -

WAl . , o .
Wﬁﬁmﬁmﬁwmm ‘ﬁfﬂ@l [‘|+1+1+1].
What happens when : L o
(i)  Zinc metal is placed in cﬂopper sulphate solution.

()  Calcium carbonate is heated. - S

(i) Hydrogen gas is passed over ethene in the presence of Nickel
catalyst. ; _ |

(iv)  Sodium chloride solution is added in silver chloride solution.
Also write type and balanced chemical equations.

(i) .angﬁa:ana%ﬁmw%? S |

(i) YT oad wrolt A ffe arf oo amerd 87

(iii) Na, Si, Cl, Mg, Al ! 523 uiftes T & w9 § qafd

l _
(iv) IO ik 17 el 1 T Soiare e foras e Tqa g
- Fad | http://www rbseonline.com - [1+1+1+1]
(1)  State the modem law ogreriodicity.

table. . . .l
| fals in the degcreasing order of their
metallic characteristics! Ng', SHE gl? Mg, AlM

« (iv) Write the name, electronic configuration and valency of a

element with atomic number 17, :
(i) 399 o @ yfafena 1 o7 TR T 5 5] BIhd 16 TR
HEF G | |
(ii) W gfe v a1 B2 39aH &Ru we: Farw =) Tafas g
. HUFRT | - | [2+2]

. (i) - Draw a ray diagram fof convex lens when object placed

between focus and optis centre.
(i)  What is Hypermetropiaf What are its causes and also state
how is it rectified? Also,draw ray diagram?

WUT - T ( Section - D ) { T T 5 37 & §1)
(i) w%%“%’é’%wmﬁamt
(ii). UrEF % Y@ T~IEH 991 37 F1d fafay |
(iii) v @ = a9 fafaw) | [2+2+1]

(i) Draw a labelled diagramp of human digestive system.

(i)  State the main digestivgenzym with their functions.
(i) What is the function of pile juice? :
~ agar [OR )
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oups are present in modern periodic -
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28. (i) W@WW%WI(H)WW@WW

?w%%ﬁmqmmwmml (iii ) ¥t 9 ey

| 3R I [2+2+1]
(1)  Draw a labelled diagram of human heart, -

(i) ~ What do you understand by double blood circulation and also
.. drawthe line diagram of blood circulation in human
g?q State two differences between artery and vein.

A9 % IUPAC 7 feifiea- [1+1+14147]
Give IUPAC names of following hydrocarbons : .
(1) CH3\ ~ 7 (ii) CH,~CH-CH-CH,
CH - CH = CH, S
Ci e Br CI.
(i) CH,-CH-CH,-CH, (iv) CH,-C=CH
I
CH, |
(v) CH,-CH=CH-CH, . [1+1+1+1]
3tgar (OR)
(i) Fefafed eRgFER § § 19 A § a9 S0 3o
forg foxr w32 )

Identity ethane from the following hydrocarbons and also
draw electronic dot structure :
(A)CH, (B)CH_ (©QCH

(ii) CNG a LPG 1 QU APHLETH R § - Hfeep s 2 57—
Write full form of CNG & LPG. Which from both can be
treated as good fuel and why? -~

(iii) Wik @R 1 Thaw faf@e | [242+1]

Write monomer of natural rubber.

30. foea wfm o fagrl, SN TE SEyoe FHART | [1+42+2]

Explain the principle, structiire and working of electric generator.
rear (OR ) ,
(27) fre1 afmg § A9 B % He g Sy g Al
Calculate the total resistance between points A and B in the

given circuits. 2Q

(i) (if)

B . .
A 2Q f [2+2+1]

.- 0 (3) i 3:?':{ &l ﬁq'q E21] mm | . it[ts fon‘nula. e o:oo:o-
State Ohm’s law and also Write .
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